Combined Higher Secondary Level (10+2) Examination-
2018

[Roll No.
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Section : General Intelligence
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Question ID : 98958016701
Status : Answered
Chosen Option : 4
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Question ID : 98958016695
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Chosen Option : 2
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Question ID : 98958016686
Status : Answered
Chosen Option : 4
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Question ID : 98958016685
Status : Answered
Chosen Option : 4

Q.6 fFHfaEd IR e # A 1 v T Ay a8 &t oI € 3Nk Ue 3T &1 39 e
g B A
Ans X1_fﬁa

W 2. "%

75 3. srEreT
75 4. e fa

Question ID : 98958016688
Status : Answered
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Question ID : 98958016682
Status : Answered
Chosen Option : 2

Y 3w e W O owd A & 7 gy sARRE ¥

Ans

4/41



22/07/2019

Question ID : 98958016700
Status : Answered
Chosen Option : 2
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Question ID : 98958015534
Status : Answered
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Question ID : 98958016697
Status : Answered
Chosen Option : 4
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Question ID : 98958016690
Status : Answered
Chosen Option : 1
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Question ID : 98958016699
Status : Answered
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Question ID : 98958015530
Status : Answered
Chosen Option : 3
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Question ID : 98958016691
Status : Answered
Chosen Option : 2
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Question ID : 98958016689
Status : Answered

Chosen Option : 2
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Question ID : 98958015531
Status : Answered

Chosen Option : 3
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Question ID : 98958016693
Status : Answered
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Question ID : 98958015532
Status : Answered
Chosen Option : 2
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Question ID : 98958016702
Status : Answered
Chosen Option : 1
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Question ID : 98958016696
Status : Answered
Chosen Option : 3
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Question ID : 98958015529
Status : Answered
Chosen Option : 2
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Question ID : 98958016703
Status : Answered
Chosen Option : 1

Q.23 A T FTURY J 3771 € Ay B O I BT Y ¢ AR
Ans  of 1 Gaw

X 27

75 3. gy

F ARG

Question ID : 98958016683
Status : Answered
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Question ID : 98958016698
Status : Answered
Chosen Option : 1
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Status : Answered
Chosen Option : 1

Section : General Awareness
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Question ID : 98958015250
Status : Answered
Chosen Option : 3
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Question ID : 98958015253
Status : Answered
Chosen Option : 1
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Question ID : 98958015257
Status : Answered
Chosen Option : 3
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Question ID : 98958015245
Status : Answered
Chosen Option : 2
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Question ID : 98958015248
Status : Answered
Chosen Option : 4
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Status : Answered

Chosen Option : 4
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Question ID : 98958015239

Status : Answered

Chosen Option : 4
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Question ID : 98958015246

Status : Answered

Chosen Option : 2

Q.9 Which one of the following is a degenerative disorder of the brain and one of several
conditions that cause dementia, a progressive decline of mental functions resulting in
memory loss and confusion?

Ans & 1. Concussion
x 2. Amnesia
J 3. Alzheimer's disease

x 4. Schizophrenia

[ Question ID : 98958015244
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Status : Answered
Chosen Option : 2
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Question ID : 98958015247
Status : Answered
Chosen Option : 3
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Question ID : 98958015243
Status : Not Answered
Chosen Option : --
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Question ID : 98958015262
Status : Answered
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Question ID : 98958015260
Status : Answered
Chosen Option : 4
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Question ID : 98958015240
Status : Answered
Chosen Option : 2
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Question ID : 98958015263
Status : Answered
Chosen Option : 3
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Question ID : 98958015256
Status : Answered
Chosen Option : 1
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Question ID : 98958015261
Status : Answered
Chosen Option : 1

Q.18 The responsibility of regulating and supervising primary (urban) cooperative banks,
which are popularly known as Urban Cooperative Banks (UCBs) is vested with which

one of the following?

Ans ( 1. The Urban Banks Department of the Reserve Bank of India
x 2. The Department of Corporate Services of the Reserve Bank of India

x 3. State Co-operative Banks

x 4. The Department of Non-Banking Supervision of the Reserve Bank of India

Question ID : 98958015242
Status : Answered
Chosen Option : 3
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Question ID : 98958015258
Status : Answered
Chosen Option : 3

Q.20 Name the Nobel Prize winning American economist whose report to the US Congress
titled “National Income, 1929-35" paved the way for the calculation of Gross Domestic
Product (GDP) as the ultimate measure of a country’s overall welfare.

Ans x 1. Paul Samuelson
x 2. Kenneth Arrow
x 3. John Maynard Keynes

f 4. Simon Kuznets

Question ID : 98958015241
Status : Answered
Chosen Option : 4
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Question ID : 98958015251
Status : Answered
Chosen Option : 2
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Question ID : 98958015252
Status : Answered
Chosen Option : 4
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Question ID : 98958015259
Status : Not Answered
Chosen Option : --
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Question ID : 98958015254
Status : Answered
Chosen Option : 4
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Question ID : 98958015249
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude
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Question ID : 98958015730
Status : Answered
Chosen Option : 3

Q.2 The given Bar Graph presents the Imports and Exports of an item (in tonnes) manufactured by a company for the five
financial years, 2013-2014 to 2017-2018.

1800 1o E poa] bl V658

3-pna 201413 s0188 201807 201718

In which financial yvear the absolute difference between the Exports and the Imports is the highest?

Ans  of 1. 2015-2016
X 2.2016-2017
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< 3.2014-2015
X 4. 2017-2018

Question ID : 98958017127
Status : Answered
Chosen Option : 1
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Question ID : 98958017113
Status : Answered
Chosen Option : 2
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Question ID : 98958017109
Status : Answered
Chosen Option : 2

% 3T cosd =2, (p £0) ¥, & tan 6 TTET &

PZ+1’

22/41



22/07/2019
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Question ID : 98958017124
Status : Answered
Chosen Option : 4
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Question ID : 98958015731
Status : Answered
Chosen Option : 2
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[ Question ID : 98958017118 ]
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Status : Answered

l Chosen Option : 1
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Ans X1 <A = 180° - «BOC
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Question ID : 98958017122

Status : Answered

Chosen Option : 2

Q.9 U HEAT # 30% T FAT g8, TUR 30% Fr g g8, 3N R 3w ag 10% H FAr g1 wEw 7 e
gferre #r 92 R/ (owean s #) §3?

Ans X 119% #r FHEY
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Question ID : 98958017111

Status : Answered

Chosen Option : 2
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Ans o1 24 cm
<2 8 cm

24/41



22/07/2019

<39 cm
X 412 cm

Question ID : 98958015732
Status : Answered
Chosen Option : 4

Q.11 A certain amount invested at a certain rate, compounded annually, grows to an amount in five vears, which is a factor of
1.1881 more than to what it would have grown in three years. What is the rate percentage?

Ans  X'1.92
X 28
X3 8.1
Y

Question ID : 98958017114
Status : Answered
Chosen Option : 4

Q.12 There was 29% off on bags. A lady bought a bag and got 13% discount for paying in cash. She paid 617.70. What was
the price tag (in ¥) on the bag?

Ans X 1. 925

< 2750

< 3. 800

v 4 1000

Question ID : 98958017110
Status : Answered
Chosen Option : 4
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Ans X 1. 2015-2016
v 2. 2014-2015
X 3.2017-2018
X 4.2016-2017

Question ID : 98958017130
Status : Answered
Chosen Option : 2
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Question ID : 98958017129
Status : Answered
Chosen Option : 3
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Question ID : 98958017117
Status : Answered
Chosen Option : 4

Q18 r(3x—7)%+ (3x—8)%+ (Bx+6)% =
3 (3x—7) (3x — 8) (3x + 6), then what is the value of x?
Ans x 1.

X
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Question ID : 98958017119
Status : Answered
Chosen Option : 2
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& Hal & &= # gt x cm &, a x F A (FFean s #) &

Ans X110
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v+ 15

[ Question ID : 98958017121
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|

Status : Answered
Chosen Option : 4
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Ans

X 1495
<2 35
X3 33
v+ 39

TI¢f FXaT 21 3P BP = 85 cm, CQ = 6.5 cm 3T AR = 4.5 cm &, a AABC Fr oRfARy (cm &) &

Question ID : 98958017120
Status : Answered
Chosen Option : 4
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Ans
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Question ID : 98958017107
Status : Answered
Chosen Option : 1

Q.20 foafr =ofam & 2 aEqV WET, e & 9% $r $AT 23050 of| 3T TH TG F 10% = R AR

Ans
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v 1. 15%
X 2 20%
X 3. 18%
X 4. 10%
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Question ID : 98958017112
Status : Answered
Chosen Option : 1
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Question ID : 98958017108
Status : Answered
Chosen Option : 1
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Question ID : 98958017106
Status : Answered
Chosen Option : 2
Q.23
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Ans
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Question ID : 98958017128
Status : Answered
Chosen Option : 2

Q24 7> 25in%0 +5cosd —4

Ans

X1.ﬁ
K2 =

J3.£§

X4.E

= 0,0°<0 < 90° § ar tand + sinB & AF &

Question ID : 98958017126
Status : Answered
Chosen Option : 3

Q.25
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frr=r ABC #, AB 3it AC =3t w2 & g &+ D 3T E 3@ @xg & & DE || BC 3w AD/BD =
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Ans X140 : 49

X2 49 - 33
'3 49 - 40
X4 33 : 49

Question ID : 98958017123
Status : Answered
Chosen Option : 3

Section : English Language

Q.1 Identify the segment which contains the grammatical error.

The ambulance have arrived on time, the accident victim was taken to the hospital.
Ans X 1. was taken to the hospital

« 2. have arrived on time
x 3. The ambulance

x 4. the accident victim

Question ID : 98958016039
Status : Answered
Chosen Option : 2

Q.2 Given below are four jumbled sentences. Out of the given options pick the one that
gives their correct order.

A. They had come from different parts of the city.

B. Men, tall and skinny, short and fat gathered in Dubai.
C. They were all named Mohammad!

D. But, all of them had one thing in common.

Ans  of 1 BADC

75 2.ADCB

75 3.ABCD
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75 4.BDAC

Question ID : 98958016051
Status : Answered
Chosen Option : 1

Q.3

Ans

Identify the most appropriate option to substitute the underlined segment. If no
substitution is required, select No substitution.

Of Rama and Usha the later is the most responsible.

x 1. the latter is most

x 2. the later is more
75 3. No substitution.

f. 4. the latter is the more

Question ID : 98958016042
Status : Answered
Chosen Option : 4

Q.4
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

"Tenzing and Hillary have done it! Mount Everest has been conquered!" This news evoked (1)

reactions. Somehow, there was a sense of disappointment (2) the fact that
the great mountain had been (3) . It would have been nice to (4) the Everest
as an (5) part of the Earth.

SubQuestion No : 4
Select the most appropriate option to fill in blank number 1

x 1. inspired
x 2. intruding
x 3. intimate

“ 4. interesting

Question ID : 98958016045
Status : Answered
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l Chosen Option : 4 J

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

"Tenzing and Hillary have done it! Mount Everest has been conquered!" This news evoked (1)

reactions. Somehow, there was a sense of disappointment (2) the fact that
the great mountain had been (3) . It would have been nice to (4) the Everest
as an (5) part of the Earth.

SubQuestion No : 5

Q.5 Select the most appropriate option to fill in blank number 2
Ans o 1 at
75 2. of
x 3. for
x 4.0n
Question ID : 98958016046
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
"Tenzing and Hillary have done it! Mount Everest has been conquered!" This news evoked (1)
reactions. Somehow, there was a sense of disappointment (2) the fact that
the great mountain had been (3) . It would have been nice to (4) the Everest
as an (5) part of the Earth.
SubQuestion No : 6
Q.6 Select the most appropriate option to fill in blank number 3
Ans o 1 conquered

X 2. invaded
x 3. occupied

X 4. challenged
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Question ID : 98958016047
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

"Tenzing and Hillary have done it! Mount Everest has been conquered!" This news evoked (1)

reactions. Somehow, there was a sense of disappointment (2) the fact that
the great mountain had been (3) . It would have been nice to (4) the Everest
as an (5) part of the Earth.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank number 4

Ans X' 1 be leaving

75 2. left
75 3.had left
« 4. have left

Question ID : 98958016048
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

"Tenzing and Hillary have done it! Mount Everest has been conquered!" This news evoked (1)

reactions. Somehow, there was a sense of disappointment (2) the fact that
the great mountain had been (3) . It would have been nice to (4) the Everest
as an (5) part of the Earth.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number 5

Ans & 1 unusual

“ 2. unassailable

x 3. unruly
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x 4. unavailed

Question ID : 98958016049
Status : Answered
Chosen Option : 2

Q.9 Select the correctly spelt word.
Ans & 1. contruction

J 2. repetition

x 3. distruction

x 4. compitition

Question ID : 98958016060
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate synonym of the given word.
PATHETIC
Ans  of 1 pitiful
x 2. purposeful
x 3. powerful

75 4. plentiful

Question ID : 98958016052
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate meaning of the given idiom.

To bark up the wrong tree

Ans x 1. to eat an unpalatable fruit by mistake
J 2. to be wrong about the reason for something

x 3. to bury money under a tree and forget the place
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x 4. to be mistaken about the name of a tree

Question ID : 98958016056
Status : Answered
Chosen Option : 2

Q.12 Identify the segment which contains the grammatical error.

Ans

The Principal requested to the Chief Guest to inaugurate the sports meet.

x 1. to inaugurate

x 2. the sports meet

x 3. The Principal requested

( 4. to the Chief Guest

Question ID : 98958016038
Status : Answered
Chosen Option : 4

Q.13 Select the wrongly spelt word.

Ans

( 1. elementery
x 2. missionary
x 3. hereditary
x 4. jewellery

Question ID : 98958016061
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate antonym of the given word.

Ans

SPARSE

x 1. weak
( 2. dense
x 3. strong
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75 4. thin

Question ID : 98958016054
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate word for the group of words.

One whose hobby is stamp collection

Ans X" 1 philanthropist
x 2. phonologist
x 3. panegyrist
o 4. philatelist

Question ID : 98958016059
Status : Answered
Chosen Option : 4

Q.16 Fill in the blank with the most appropriate word.

The appears to be rather rough today for the ships to sail.
Ans X 1. environment

x 2. atmosphere

f 3. weather
x 4. climate

Question ID : 98958016062
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate word for the group of words.

One who is in charge of a museum or art gallery
Ans X" 1 collector
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x 2. instructor

J 3. curator
x 4. monitor

Question ID : 98958016058
Status : Answered
Chosen Option : 3

Q.18 Identify the most appropriate option to substitute the underlined segment. If no
substitution is required, select No substitution.

By next week | will have been made all the reservations for the trip to Europe.

Ans & 1. No substitution.
o 2. will have made
#< 3. will had make

x 4. will have been making

Question ID : 98958016043
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate meaning of the given idiom.

To grease the palm

Ans X" 1 to give a massage
x 2. to give support
x 3. to cheat someone

f 4. to bribe someone

Question ID : 98958016057
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate passive form of the given sentence.
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Have you paid your outstanding bills?

Ans

Ans J 1. Have your outstanding bills been paid?
x 2. Will your outstanding bills be paid?
x 3. Have your outstanding bills being paid?
x 4. Are your outstanding bills being paid?
Question ID : 98958016040
Status : Answered
Chosen Option : 1
Q.21 Fill in the blank with the most appropriate word.
The archaeologist made a discovery.
Ans x 1. sensitive
x 2. senile
J 3. sensational
x 4. sensible
Question ID : 98958016063
Status : Answered
Chosen Option : 3
Q.22 Given below are four jumbled sentences. Out of the given options pick the one that

gives their correct order.

A. Practicing hard, she hoped to win an Olympic medal some day.

B. As she sped down the slope she had a terrible accident.

C. But, she didn't know it would be her last run ever.

D. Ann Thompson was going to make her practice ski run before lunch.

W 1.DACB

75 2.DCBA
75 3.BCDA

75 4.ACDB

[ Question ID : 98958016050
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Status : Answered
Chosen Option : 1

Q.23 Select the most appropriate synonym of the given word.

OPPORTUNE
Ans X 1 barely

x 2. rarely
75 3. likely
( 4. timely

Question ID : 98958016053
Status : Answered
Chosen Option : 4

Q.24 Select the most appropriate indirect form of the given sentence.

The lawyer said to the accused, "Where were you at the time of the burglary?”

Ans ( 1. The lawyer asked the burglar where he was at the time of burglary.
x 2. The lawyer asked the burglar that where was he at the time of burglary.
x 3. The lawyer asked the burglar if he was there at the time of burglary.

x 4. The lawyer asked the burglar where were you at the time of burglary.

Question ID : 98958016041
Status : Answered
Chosen Option : 1

Q.25 Select the most appropriate antonym of the given word.

INFERIOR

Ans X 1 ulterior

x 2. interior
x 3. exterior
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“ 4. superior

Question ID : 98958016055
Status : Answered
Chosen Option : 4
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